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[1]. A simple support beam is subjected Lo a trapezoidally distribu
(see Fig.-1). Draw the shear-force and bending-mounent diag
beam. 25%

[2]. An element in plane siress is subjecled to stress as shown (see
Determine the value of the angle & of principal stress and
stress ¢, and q; 25%

[3]. An clastoplastic material with the sectional data shown in Fig
the size of the elastic core “e”. Given: My<=M<=Mp . 25

[4]. A beam ABC supports a upifornt load as shown in Fig.-4. The
channel section with dimension as shown in the figure. The 1
about the Z axis ( (he neutral axis ) equal 5.14 in.*

Calculate (the maximum tensile stress gy and maximum coul

ted load

rams for the

Fig.-2).
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oment inertia

ipressive stress

oL due to the load. 25 % .
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